
EE 201 —  HW 4-1     Name__________________________________________

An amp with the two-port model 
parameters given shown at right used to 
amplify a signal from source with a 10-
kΩ source resistance and apply it a load 
of 1 kΩ. 

 

 
a. Calculate the voltage gain, vo /VS for the single stage amp:  AT1 = ____________________________ 

 
 
 
 
 

b. What is the gain if two stages of the same amp are used? AT2 = ____________________________ 
 
 
 
 
 

c. Three stages? AT3 = ____________________________ 
 
 
 
 
 

d. Four stages? AT4 = ____________________________ 
 
 
 
 
 

e. N stages? ATN = _____________________________________________________________ 
 
(Find an expression for the gain in terms of Rs, RL, Ri, A, Ro, and N.

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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–VS

0.25 V

Rs

10 kΩ Ri = 33 kΩ
A = 3

Ro = 330 Ω –

+
RL

1 kΩ
vo


